
1.  True (A) or false (B) – click on the correct answer: 
Up to 1 in 6 or more breast cancers are over-diagnosed 
and over-treated in routine screening mammography 
programmes. 

2.  True (A) or false (B) – click on the correct answer:
In the UK death rates from breast cancer over the last 20 
years have fallen from above 40 per 100 000 women to 
below 30 per 100 000. 

3.  True (A) or false (B) – click on the correct answer:
Human papillomavirus vaccines are effective and safe in 
women in the age group 25 - 45 years. 

4.  True (A) or false (B) – click on the correct answer:
Pelvic floor exercises during pregnancy reduce the use of 
episiotomies and the incidence of perineal tears. 

5.  True (A) or false (B) – click on the correct answer:
A woman who has pre-eclampsia in her first pregnancy 
has a 15% chance of its recurrence in her second 
pregnancy. 

6.  True (A) or false (B) – click on the correct answer:
A woman who has pre-eclampsia in her first and second 
pregnancies also has a 15% chance of its recurrence in 
her third pregnancy. 

7.  True (A) or false (B) – click on the correct answer:
Cell-free fetal nucleic acid fragments are found in 
maternal serum from early pregnancy. 

8.  True (A) or false (B) – click on the correct answer:
The prevalence of Down syndrome for 30-year-old women 
is approximately 1 in 1 000. 

9.  True (A) or false (B) – click on the correct answer:
The prevalence of non-chromosomal congenital anomalies 
rises with age in the same way as that of chromosomal 
abnormalities. 

10.  True (A) or false (B) – click on the correct answer:
When a patient has urinary stress incontinence and 
prolapse, the two conditions are best dealt with as 
separate surgical procedures. 

11.  True (A) or false (B) – click on the correct answer:
Deaths within the first 24 hours of life constitute one-
third of all neonatal deaths. 

12.  True (A) or false (B) – click on the correct answer:
The overall perinatal mortality rate for South Africa is 
approximately 40 per 1 000 births. 

13.  True (A) or false (B) – click on the correct answer:
A woman’s lifetime risk of surgery for urinary incontinence 
or pelvic organ prolapse is approximately 10%. 

14.  True (A) or false (B) – click on the correct answer:
The vast majority of operations for urinary incontinence 
or pelvic organ prolapse are covered by prophylactic 
antibiotics. 

15.  True (A) or false (B) – click on the correct answer:
The incidence of shoulder dystocia is increasing 
worldwide. 

16.  True (A) or false (B) – click on the correct answer:
Approximately 20% of babies delivered with shoulder 
dystocia will suffer some sort of injury. 

17.  True (A) or false (B) – click on the correct answer:
Prophylactic caesarean section use is set to reduce the 
burden of disease caused by shoulder dystocia. 

18.  True (A) or false (B) – click on the correct answer:
McRoberts manoeuvre should usually be attempted as 
the first move in the management of shoulder dystocia. 

19.  True (A) or false (B) – click on the correct answer:
In the last Maternal Mortality report nearly 40% of 
maternal deaths in South Africa had clearly avoidable 
causes. 

20.  True (A) or false (B) – click on the correct answer:
Intrapartum asphyxia and birth trauma as a combination 
were the commonest cause of avoidable perinatal deaths 
in South Africa according to the most recent survey. 
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